001- 28— 0 c8 [=R]=Fi] 1=Ri=14]
001- ¢8- 0 c8 v IAIA K0 14 66¢ G0S'¢ 9022 R==~131C
0 08s's  |oss's o Sgl0 | e=RI0 o~ 6 ¥ 02 Beil02k| ReE
0 08S‘S 085'S 0 s =EIl0 el 062 9162 9222 v R+
G- 9y- AT 00€ ElYR EYR 0 0 €082 €082 EEI0TEHR =&I0
G- - 7S¢ 00€ k¥ ZlxF 0 0 €082 €082 v E2&I10
81 GGo‘e LL¥°02 9lvLL IREB1Y IREB1Y 0 0 001 001 ERBRI0R =R
A 962 4% 069 IRB= 0 0 001 001 v ERr
Gi 6612 G202 996°/1 K IREBIY €e- 021~ ore 09¢ 2B=RIXIA
79— 096- (0174 006t IAsSERY IRBIY 001- 06— 0 0S ErsRlY | BR+rE=
79— 096—- 07"} 00S°1 e ATV | - 01~ 0144 Ol > RBrEls
g 78 #8001 0666 IAR3 0 0 00002} 000021 BrE¥E | BR+EXA
8¢ 16— £6¢ 0G¢e IAREsB 0 0 000°021 000021 < CRd=ta=]
B 1e82'8- 00506 16266 IRF2I3 Ge- elel- 1222 ovye BBy B RBiY
8- 7ve'8- 182°001 11601 K A1y Ge- elel- 1322 orv'e s R+ By
|= £60° - 988°/2! 616821 ke = £60°1- 988°/21 6/6°821 =]
WER | B2 |emwes|wrbec| B = WER | P2 |enwes|wmwec| F S
v-8)2 = F810¢ #8102 v-g)e e =810¢ E810¢
2 Iy % I
BRIEH)
TEEE |
(IQ)ivio EN-BIY BInBIYRIYCHREIXERIYoREM 58102




